ote : (1)

(2)

(3)

(1)

(5)

(a)

).
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Do not write anything on question paper oxcept Seat No.

Graph or diagram should be drawn with the black ink pen being

used for writing paper or black I1.B. pencil.

Students should note, no supplement will be provided.

All questions are compulsory.

Draw structure, diagram wherever necessary.

Multiple choice questions :

Identify the following reaction :
Anhy. AICly | ¢ 1.~ cOCH, +1CI

Friedel Craft alkylation

C,H, +CH,COCI
(i)

()  Friedel Crafl acylation
(iv) Sulphonation

(fii) Halogenation

Nitration of benzene is carried oul :

(i)  Conc. HySOy

(i)  Conc. HNOg
(i) Mix. of conc. HyS0, + conc. HNO4
Gv) Conc. HCI
P.T.O.
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i)

()

(r)

)

PANKII-O1

Benzene act as

(10 Nucleophile (i) Electrophile

(r)  Both (1) and (i) (iv)  None of these
Huckel rule is also known as :
M (n+ 22 rile (i) (dnsDa rule
(i) (4n+ 26 mule (iv)  (dn+1)6 rule
Benzene is an

(1) Aliphatic compound (i1)
(i) Heterocyclic compound (iv)  None of these

The distillation of phenol with Zn dust gives :

@ Cgly, i) CgHg

(i) Cglly - Cgll (i) CgHs - OCgH;

Identify the following reaction :

OH OCOC,H,
I
+ C-C-Cl —NuOTT + 1Ol
Phenol Benzoyl chloride Phenyl henzoate

()  Benzoylation
(rr)  Sulphonation
(rir)  Schoatten Bauvmann reaction

(tv)  Both (i) and (i)
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(1)

"

(k)

(¥

(m)

PANKII-01

Phenol react wi
Mh conp NC

| C, I]l [}:].

0] 0.|1ilru]1ht-nnl (i)
it

() Picric ncig (iv)
v

Complete the I'nHowim: reaclion -

Libermann’s nitroso re

@

amine (i)
() 3" amine (iv)
Reduction of aldoxime gives :
(1) 1" amine (ii)
(izi)  2° amine (iv)

il gives ¢
paitrophenol

Both () and (if)

+ KOl —y 7
Cal1,CI1,CHNH,,
None of these

achion is used to identifly :
2" aminc

4° amine

3° amine

4" amine

Identify the product for the following reaction :

3° amine

R-X R-X R-X
~NF ? ? ?
R-NH, X > X > >
(1) 2° amine (i1)
(tit) 4° amine (iv)

All carbon atoms in anthracene are :

()  sp2 hybridized (if)

(tii) Both (i) and (i) (iv)

All of these

sp-hybridized
None of these

P.T.O.
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(n)

(0)

(p

(q)

(r)

PANKII-01

Carbon-Carbon bond leng

(1)

(i)

Anthracene undergoes electrophilic

(0

(1)

Naphthalene oxidation with

(r)

(111)

151 A (it)

138 A (v)

C -1 (i)
C-2 (iv)
Tetraline (it)

Phthaldchyde (iv)

Identify the following reaction :

(@)

(i11)

(h in benzene ATe :

134 A

1.39 A

qubstitution reaction mainly 5

c-9

C -4

KMnO, in acidic medium gives -

Phthalonic acid

Phthalic acid

CIL.CI
9
= AIC, , 9
—HCI
Benzyl chloride
Benzene (ii) Naphthalene
Phenol (iv) Anthracene

Fats and oils are esters of :

()

(i)
(iit)
(iv)

Acetic acid and alcohols
Fatlty acid and alcohols
Carboxylic acid and alcohols

None of the above
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() The specific Bravity of lipid is
(1) 0.2 |
() 0.8
) 1.0 (iv)
iw) 1.5
() Ildentify the follnwing reaction product :

Cll,\ .
| CH+H, —N

cn,—

(1)  Butane

—_— ?
353 K

(i)  Pentane
(i)  Bthane (iv) Propanc

Solve any {wo out of {hree - 20

in i . . g i {

(@)  Explain in detail clectrophilic aromatic substitution reaction ©
benzene.

)

Describe in detail any two methods of preparation and chemical reaction

of Naphthalene and write its medicinal uses.
(© ()  Write a note on effect of substituents on reactivity and
orientation.

(i))  Explain the concept of acidity of phenol.

3 Solve any seven oul of nine : 35

(@) Wrile chemical reactions of phenol.

(b)  Explain the concept of Bacyer's strain theory.

(¢) Enumerate synthesis and chemical reaction of Anthracene.

(@) Explain in detail electrophilic substitution reaction of phenanthrene.

(¢)  Explain the IHuckel rule for aromaticity.

P.T.0.
PANKII-01 >
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N Comment on :

|
\
(1) Acid value.

(i)

Saponification value.

(#)  Discuss the general properties of fats and oils with reference {o hydrulysis
and hydrogenalion.

(&)  Explain the concept of aromatic amine.

0]

The carbon-oxygen bond in phenol is slightly stronger than in methapg)
why ?

PANKII-01
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